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7 100kN/mM%#BZ 5 -~ -|3mEBZD -~ - -| 100kN/m%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 5.19 64.74 | FnLSY | 0.00 ~ 0.00| 1.69 9.05 st 1.00 | 6.00 ~ 5.60 64.74 | ThS | 5,00 ~ 560 1.69 9.05
2 100kN/mM##BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.80 7255 | TS | 0ooo ~ 580 1.73 9.26 st 1.00 | 6.00 ~ 6.50 7255 | ThSY | 5,00 ~ 650 1.73 9.26
3 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.07 63.16 | FnLSY | 000 ~ 507| 1.92 10.27 st 1.00 | 5.00 ~ 5.80 63.16 | Thst | 6.00 ~ 580 1.92 10.27
4 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.07 63.14 | FnLSt | 0oo ~ 507| 1.92 10.28 st 1.00 | 6.00 ~ 5.80 63.14 | Thst | 6.00 ~ 580 1.92 10.28
5 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.92 74.14 | FnS | 0o0 ~ 592|173 9.25 st 1.00 | 6.00 ~ 6.70 74.14 | TS | 5.00 ~ 6.70] 1.73 9.25
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 4.74 59.07 | =S | 000 ~ 4.74 | 1.79 9.69 st 1.00 | 6.00 ~ 5.00 59.07 | =h4 | 5,00 ~ 6.00| 1.79 9.69
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ Fhst ~ FhLst ~ zhLst ~




